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Ordnenvonraticnalenzah.IE weiter rechts auf der
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a) -8<-7 a- 5<-2. - 0<1
< 4 c) - 5E

,
⇐ 42<-2'Er -234<2!

b) -39,4<-34,94 - 34,2<39,0 d) -61g < -6,3<-614 < 33<3,8

⇐ -6,5 < - 6,3<-6,25 < 3,75<3,8)

5. 92 , Nr. 11
'

%
a) rationale Zahlen (-3 ;-2,99 ; -2,8 ; -2,5 ;

-2; -1 :O ,
-1

,-2,3 ; 44,1>-4,2; 4,3504; 55,01 )

(1) + = - 2,9 ; -2,8 ; -2,81; -1,5; 1,99 , . . .

b) a) * -3,99 ;-3,5-45,1, -0,5
C) (1) 4=-4,991--4,5 ; -4,2; -4,01; - 4,001 ; . .

(2) * 1,2:3 ; 3,5 ; 3,8 ; (2) X =-3 ;- Zi -1,0 , 1,2 ,
(2) + = -2,9 ; -2,98 ;

- 2,97 ; - 2,93;-2,001 ; . . .

d) (1) += - 1,9; -1,8 ; -175,115,2

ganze Zahlen (-3 ,
-2 , -10,112,3)

(2) 4=211 ; 2,1443 ; 2,572,95

c) d)
(n * -2 ; - tioit

"b)
(1) +=-3 , -4-1 IN * {} (1) 4=-1 ,-91,2

a) geht nicht X= * leere Menge
in * 1,43 (4-31-44912

(2) * { }

natürliche Zahlen (1,213,415,6 ,
. . .)

a) * Oil b) IN *{} C) UI *E} d) (1) × -1,2
(2) X > {}

(2) 4=1,213 (2) 5- 1143,4 (2) = {}
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a) XE { . . . . -3; -2 ;-10,1123
XE { . . . -6 ; -5 ; -4 }

b) XE { 4,516 ,
. _ .}

XE { -2 , -1,011,21 . . .}

c) xe { -2 , -1,011,25
XE { . . . -54,415,6 . . .]

d) XE {-2,-1,0J
XEE -1}


